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imEXRE Rt K= RRERKRE BHEBKZE REKZFE KIRKZ N KE
GGz | Ba | BEL | S5 | B | S5 | B | BA | EEZ | SA | B | 85 | B | BA
TARKRYT— 2 i 7 3 fiL 5 5 fiL 3 4 fif 4 14z 10 T&m 6 i 2
fnze & 5 i 3 14 10 2 i 7 4 fi 4 3 i 5 6 fiL 2
RiE 5 {iL 3 3 fiL 45 2 i 7 6 fiL 1.5 14 10 3 fiL 45 6 fiL 1.5
TFE 14 10 2 i 7 7 L 1 3 fiL 5 5 fiL 3 6 fiL 2 4 fi 4
FIE 14 10 5 i 3 4 i 4 6 i 2 2 i 7 7 4L 1 3 i 5
NURR—IL 5 i 3 142 10 &m 3 fi 5 2 i 7 4 i 4 ~&m
B by — st | 3 FEI 146 | 85 FE 14 [ 85 [ a4t [ 4 [3m | 5
E BpEk 4 i 4 5 fi 3 &m 2 fi 7 &m 3 fif 5 14 10
EREX T 2 i 7 4 fif 4 &m 3 fi 5 &m 14 10 5 i 3
INL—R—)L 3 fi 5 2 i 7 4 i 4 5 fif 3 &m 14 10 6 i 2
IRy iR—IL 2 fiL 7 6 fiL 2 1§ 10 5 {3 3 74 1 3 i 5 4 fiL 4
S BF| 61 2 5 fiL 3 14 10 7 L 1 3 fiL 5 4 i 4 2 i 7
TF| 24 7 3 fiL 5 7 6L 1 6 i 2 1 i 10 4 fiL 4 5 fi 3
Bk 6 i 2 5 i 3 14 10 2 fi 7 &m 3 fi 5 4 i 4
INREUbY 3 fiL 5 5 fiL 3 4 i 4 2 i 7 6 i | 2 1 4L 10 7 4L 1
538 6 fiL 2 14 10 4 fif 4 2 i 7 &m 3 i 5 5 {iL 3
e BF| 51 2 5 fiL 2 2 fiL 7 3 fiL 45 5 fiL 2 14 10 3 fiL 45
BXT=X
TF| 211 7 3 fi 45 &m 3 fiL 45 5 {iL 3 14 10 &m
JIRF=R BF| 44 4 2 i1 7 14 10 6 fiL 2 5 fiL 3 3 fiL 5 7 4L 1
XF| 2% 7 5 fiL 3 6 fiL 2 3 fiL 5 7 6L 1 4 fiL 4 14 10
[ b3 2 i 7 5 i 3 3 fi 5 4 i 4 14 10 7 4L 1 6 fi
Avk 141 10 5 {iL 3 4 fif 4 3 fiL 5 2 i 7 5&m 6 i 2
e’ 114 95 104.5 915 935 1085 76
WA B AL 14z 44 3 L 6 fiL 5 fif 2 fif 74




